
PART-III

11-

: 2.30 மணி மாதிாி – 1 :90

- I

: (i) . 20 1 20 

(ii) விைடயிைன
.

1.

2

2

2

1

1

1

a a bc

b b ca

c c ab





(a) 0 (b)1 (c) ( )( )( )a b b c c a   (d) 2

2. = 20 -
a) 3 b) 6 c) 5 d) 4

3. உைடய 9

a) 10! b) 9! c) 9× 9! d) 10×10!

4.

a) 2n b) 2n c) 2n d) 17n

5. = 0 = 0

,
a) ( 1, 1) (b) (1,1) (c) (1, 1) (d) ( 1, 1)

6. y2 = 4ax

(a) a (b)2a (c)4a (d) 3a

7. sin15º cos15º

(a) 1        (b) (c) (d)



8. tan B= tan(2A+B) .

(a)1 (b)2 (c)3 (d)4

9.
4

0

log(1 )
lim
x

x

x




(a) 4 (b) 0 (c) 1 (d) 4

10. = -

(a)    (0,0)     (b)    (1,0)     (c)    (0,1)     (d)    (1,1)

11. = = 0
(a)    4     (b)    9     (c)    2     (d)    0

12. = 20 − 3 நிைல

(a) 20 − 6 (b)20 − 3 (c) 20 + 6 (c) 20 + 3
13. = 1000 + 8 − ,

(a) −1 b) 8 c) 1000 d) 1000 −
14. ₹100 15% 500

(a) ₹7,500 (b)₹ 5,000 (c) ₹8,000 (d) ₹ 8,500
15. நிைல அளைவ?

(a) (b) (c) சராசாி (d)

16.  10,14,11,9,8,12,6 ஆகிய இைடநிைல

(a) 10        (b) 12               (c) 14                        (d) 9

17. 0, 1.2, 2, 3i i x yx y x y       10n 

(a) 0.4         (b) 0.3      (c) 0.2           (d) 0.1

18. மாறி

a) மாறி

b) மாறி

c)

d) வில மாறி



19. X - மீதான Y- 2 , Y- மீதான X-

a)
1

2
 b) 2 c)

1

2
 d) 1

20.( , )
(a) j i j i ijE E L L t    (b) i j j i ijE E L L t   

(c) j i i j ijE E L L t    (d) j i j i ijE E L L t   

- II

7 . வினா 30

. 7 2 14 

21. 22, 4, 2, 12, 16, 6, 10, 18, 14, 20, 8 D2 D6 .

22.
− 1 − 20 − 2 − 30 0 − 3 = 0

23. sin15 .

24. ( 2, 2) 2 + 2 – 4 +4 −8= 0

.

25. . .

26. ! ( 1)! 144n n   n -ஐ .

27. பகைட ,

(i) பகா .
(ii) விட ெபாிய

.

28. = log( + ) .

29. ( ) x xf x e e  .

30. வைரக.



C D ஆகிய A . E C-
. F D - . E

F B .

- III

7 . வினா 40

. 7 3 21 

31. .

32. வைகயான A, B C
₹ 20, ₹ 25 ₹ 15 என .

ேதைவயான வள கீேழ
.

P1 P2 P3

மனித / 6 3 12 200

/ 2 5 4 350

/ 1கி.கி 2 கி.கி 1 கி.கி 100 கி.கி

.
33. ( )( ) .

34. (2,0)A (3,1)B A –
15 .

35. A+B=45º, (1+tanA)(1+tanB) = 2 என .
36. .

(₹ )

சராசாி 40 6

10 1.5

= 0.9. . 10

, .

37. ( ) = (1) = 5 n - .



38. 500 7 14%

தவைண கால .

[ 7(1.14) 2.5023 என ]

39.
3 21

( ) 4 20 7
10

C x x x x    (i) (ii) சராசாி

(iii) சராசாி .

40. = 1 3 31 4 31 3 4 A (adj A) = |A| .

- IV

. 7 5 35 

41. (a) வைரக: ( ) = 16  .
( )

(b) . , . . . .

X 7 10 13 16 19 22 25 28

f 10 22 24 28 19 9 12 16

42. (a) 1 1 13 3 8
tan tan tan

4 5 19 4

              
     

என .

( )

(b) .

.

( ) 65 66 67 67 68 69 71 73

( ) 67 68 64 68 72 70 69 70

43. (a) – 8 – 8 + 24 = 0 , , ,
.

( )
(b) .

1 230 20 300x x  , 1 25 10 110x x  1 20 , 0x x 

1 2Z 6 8x x  - .

44. (a) 4 , 2 நிைல (wicket keeper) 16



11
அணி . 3

நிைல 11
?

( )

(b) = 15 + − , சராசாி

சராசாி நிைல

என .

45. (a) : – + 2 = 3 ; 2 + = 1 ; 3 + 2 + = 4.
( )

(b) வைரக.

(EST) , (EFT),
(LST) (LFT) .

, ய .

1-2 1-3 2-3 2-4 3-4 3-5 4-5

20 25 10 12 5 8 10

46.(a)

மீதான - மீதான - .

விைல ( ) 10 12 13 12 16 15

40 38 43 45 37 43

( )
(b) 2 . 22

20,00,000 . 10%
.

ெதாைக ?[(1.0083) = 6.194 ].
47. (a) அணி கீேழ .



ேதைவ

1            2

1 4            3 13 20

2 5            4 3 12

i) அணிைய .

ii) 1- 23

.

( )
(b) ஒேர மாதிாியான , 4 3 , 3

7 . ,

.
. ,

.


